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.1 cm-Hg =0.0136kg/cm? o
. lkg=2.2lb » Im=3.28ft o 1kg-m="7.23ft-1b > 1kg-m=9.8N-m o
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=Pa (fadf¥) & SLEEHRAGERES » 1Pa=IN/m? (BpdadiF=1
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0 5 1o 15440
@ 15.86mm (3 17.86cm @ 17.36mm o ISE
=435
= 17+(001%36)=17+036=1736 (mm) - =1

() S EMEEM Imm &R D04" 2 0.04"
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@ 13.75mm (3 13.25mm @ 14.25mm o %‘r'r'r'r'r'r'r'r'r'r'r =25
:\20
= 13mm -+ (25%0.01mm )= 13.25mm T
() 20 EEMEBFRALR D 2243mm =
=—tu45
@21.83mm @) 21.47mm @ 21.43mm o ‘%ao
= 21mm+(43%0.01lmm)=21.43mm - e
() 2. FEFTRZFERRAERZ 0 @ 20.21mm "° = ®
@ 1525mm  (3) 154mm @) 15.15mm o 0 2 4 6 8 1o 005

=E#E L D 15+(5%0.05)=15.25 (mm) -

15.(2) 16.2) 17.(3) 18.(4) 19.3) 20.(3) 21.4) 22.(2)
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